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For there is no partial placenta without a fetus — 751 Xb2 X" nxpn 1°KR7

OVERVIEW

The ruling concerning Xm0 o0 is that if the poo was created in a 7"77,' the poo is
T1w; if it originated in a "777 then it is XY even if there is a °na% Xp*o0 PoD.?

Our X713 is discussing the status of woman where X°7w ngpn was expelled on day
one, etc.; whether we count the ¥ " from day one. *"wn explains’ that this
question is relevant if she touched mnv on day one after the X5w n¥pn was
expelled; are these N77Y considered Xnv or Mav. It appears from the X132 that the
status of the women depends if we maintain 771 X72 X°2W n¥pn w°, then she is 7170
(for it is a X0 90) or if we maintain 791 X722 R°5W n¥pn PR, then she is aRnY (for
there is only one P20 and X217 12°50). MoOIN takes issue with this discussion.

nvoIn asks:
= 191 NDA NODY NEPN PNRT DIVN PYYIN 9IRT 9TYON 2299 99NN ON)

And if you will say; according to X''% who maintains that we are concerned
that they may have been a birth on day one, since there is not (even) a partial

discharge of the placenta without at least part of the fetus embedded in it. Therefore
we are concerned that perhaps a majority of the fetus or the head of the fetus was embedded in

this partial placenta. This would render this discharge a ‘birth’ and the woman would be 77°% 7890,
= NYYIN NNH XY 191 XY NOJY NEPN NN ON YaN

However if there could be a partial placenta without a fetus, the woman would

not have to be concerned that there is a birth (and cause her 77°% nx»1), since it is possible
that there was no fetus at all, and at the most only a minor part of the fetus (which leaves her 7170).

moon will now analyze this:
= 1999001 XPOD TN2 129N DA9N MY sx 9137 9990

What case are we discussing; if the discharge was in a public domain then even
if there is a single doubt we declare it 91770; therefore even if 791 X732 X°5W nxpn PR

' The terms "7 1" concerning 7XmY mean a frequented place (1"77), or a secluded place (*"77); but not as they
are described naw v,

> We derive this ruling from a 71 50 (or a 7vI0) which the 7710 refers to by the term x». Just as the act of nAT is
in a secluded place and the 77110 refers to her as xnw forbidding her 71%¥27 even though there is a o0 if there was a
M awyn or not, therefore by all Np*o0 of AXMW, if the 90 took place in a *"71 (a secluded place) it is considered
Xnv, just as a 7V is called AR, We derive the opposite as well; if the 7Xnw P90 occurred in a frequented place
(7"77) the 17 is M7V 1P 0. See ‘Thinking it over’.
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nevertheless the N7V should remain 7170 since there is (one) poo if there is 721 217 in this
expelled X°%¥ or not. The rule is that a 7"7772 7RM™IW OO is MY P°00. If the woman touched mniw
after the X°9w n¥pn was expelled those M1 are PoOR N,

= (17 778 mAnv) 13N NN NNV 903 RPIOD 7901 199N 19NN MW IN)

And if the discharge was in a private domain then even if it is a X?°50 P20 if she

1s Xnv; she 1s still X% for we learned in a 73w in N197Y NOON -
- NPV NPIOD PAD IO Y7092 MAINY 9199 NANY M0 Y5

‘All mpeee that you can add on in a "7 even if it a X% 220, the object in
doubt is xnw’.

N1B0IN answers:
19935 NIDINY PPIYY S9N PHYNAYT 1M U

And one can say; that our X923 is discussing the status of the women, concerning

whether she is forbidden to her husband on account of 77°% nxmw; but we are not
discussing whether the m77v she touched are ¥»v or MAv. The status of the M77v, indeed
depends on where the %m0 P90 took place; 1"772 or °"7172 as previously mentioned. However
the concern of 19v2 ¥ 710XY is not a 17 of N7V P90, but rather a 7 of M0°X Po0. In cases of 90
To°R it depends whether it is one poo, then MOKY 100, or if it is a Xp*50 poY, and then it is 1p°50
an°nY, regardless whether it is in the 2777 or >"71.

SUMMARY
The ruling by 1nxpn anLw ROW that PWRY 011 72 PIY, is only concerning 7710KY
mova Hy; concerning MN7v, however, it depends whether it was 1"7772 or *"772.

THINKING IT OVER

1. mooin differentiates between NM1v which depends whether the axm10 was 2"772
or *"7172 and 7v2% Mo’k which depends on 90 or Xp*50 Po0. Seemingly the entire
rule that >"7172 Po0 is always 0K is derived from 70 MO°R, which is %Y 7705
792, How can nM»oIn answer that concerning 752 Y 770IRY the rule of R PoO

N

7172 does not apply‘?!6

2. How can we reconcile that she is 79v2% 770K and the 170 remain N;0?!7

> The question of Moo is why does our X3 assume that the 7w of this woman depends on whether X223 X9 ngpn w°
791 which makes it a Xp*50 790 and she is 777W, or whether 721 872 X9W n¥pn PX and it is only one 790 and she is XMY;
when it does not depend on P50 or Xp*50 P20, but rather where the 750 occurred; whether it was 1"7173, then it is always
7970 even with only one 7n°i1? P50 or whether it occurred in >"711 where it is always X&nv even by a 077 Xp°90 po0.

® See 7™w 0"n and 7"MK.

7 See n1"nX.
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